
Converting Fahrenheit and Celsius (D)

76 °C = °F -64 °C = °F -47 °F = °C

40 °F = °C 134 °F = °C 126 °F = °C

-64 °C = °F 52 °C = °F -99 °F = °C

-100 °C = °F -99 °C = °F -2 °F = °C

-65 °F = °C 199 °F = °C 3 °C = °F

145 °F = °C 32 °C = °F 121 °F = °C

-65 °F = °C 27 °C = °F 187 °F = °C

81 °C = °F 77 °C = °F 0 °C = °F

37 °C = °F 5 °F = °C -15 °C = °F

-21 °F = °C 9 °C = °F -13 °F = °C

41 °C = °F -12 °F = °C 61 °F = °C
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Converting Fahrenheit and Celsius (D) Answers

76 °C = 168.8 °F -64 °C = -83.2 °F -47 °F = -43.88 °C

40 °F = 4.44 °C 134 °F = 56.66 °C 126 °F = 52.22 °C

-64 °C = -83.2 °F 52 °C = 125.6 °F -99 °F = -72.77 °C

-100 °C = -148 °F -99 °C = -146.2 °F -2 °F = -18.88 °C

-65 °F = -53.88 °C 199 °F = 92.77 °C 3 °C = 37.4 °F

145 °F = 62.77 °C 32 °C = 89.6 °F 121 °F = 49.44 °C

-65 °F = -53.88 °C 27 °C = 80.6 °F 187 °F = 86.11 °C

81 °C = 177.8 °F 77 °C = 170.6 °F 0 °C = 32 °F

37 °C = 98.6 °F 5 °F = -15 °C -15 °C = 5 °F

-21 °F = -29.44 °C 9 °C = 48.2 °F -13 °F = -25 °C

41 °C = 105.8 °F -12 °F = -24.44 °C 61 °F = 16.11 °C
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